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Cell Phone Example with Manufacturers
based on Specific Contribution Valuation

Company E Sells Phone retall for
4 Patented Components

Cost Royalty Rate Total

Supplier A $2.00 10% $2.20

Supplier B $2.00 10% $2.20

Supplier C  $2.00 10% $2.20

Supplier D $2.00 10% $2.20

TOTAL COST (to manufacture) $8.80
Profit = ($10.00 - $8.80) = $1.20

12% ROI



Cell Phone Example with NPE and
Entire Market Value

« E Sells Phone for
4 Patented Components

Cost Royalty Rate Total

Supplier A $2.00 10% $2.20
Supplier B $2.00 10% $2.20
Suppler C $2.00 10% $2.20
NPE D $2.00 5% (EMV ) $2.50
TOTAL COST $9.10

Profit $10.00 - $9.10 = $1.90
9% ROI



Conseguences

- Incentive is to litigate rather than negotiate
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